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Perfect Squares 

12 = 1 × 1 = 1   112 = 11 × 11 = 121    212 = 21× 21 = 441 

22 = 2 × 2 = 4   122 = 12 × 12 = 144    222 = 22 × 22 = 484 

32 = 3 × 3 = 9   132 = 13 × 13 = 169   232 = 23 × 23 = 529 

42 = 4 × 4 = 16   142 = 14 × 14 = 196   242 = 24 × 24 = 576 

52 = 5 × 5 = 25   152 = 15 × 15 = 225   252 = 25 × 25 = 625 

62 = 6 × 6 = 36   162 = 16 × 16 = 256   262 = 26 × 26 = 676 

72 = 7 × 7 = 49   172 = 17 × 17 = 289   272 = 27 × 27 = 729 

82 = 8 × 8 = 64   182 = 18 × 18 = 324   282 = 28 × 28 = 784 

92 = 9 × 9 = 81   192 = 19 × 19 = 361   292 = 29 × 29 = 841 

102 = 10 × 10 = 100  202 = 20 × 20 = 400   302 = 30 × 30 = 900 

Perfect Cubes 

13 = 1 × 1× 1 = 1   63 = 6 × 6 × 6 = 216    113 = 11 × 11 × 11 = 1331 

23 = 2 × 2 × 2= 8   73 = 7 × 7 × 7 = 343    123 = 12 × 12 × 12 = 1728 

33 = 3 × 3 × 3 = 27   83 = 8 × 8 × 8 = 512   133 = 13 × 13 × 13 = 2197 

43 = 4 × 4 × 4 = 64   93 = 9 × 9 × 9 = 729   143 = 14 × 14 × 14 = 2744 

53 = 5 × 5 × 5 = 125  103 = 10 × 10 × 10 = 1000  153 = 15 × 15 × 15 = 3375 

Exponential Value of am, where a = {1, 2, 3, 4, 5} and m = {0, 1, 2, 3, 4, 5} 

10 = 1; 20 = 1; 30 = 1; 40 = 1; 50 = 1;    11 = 1; 21 = 2; 31 = 3; 41 = 4; 51 = 5;   

12 = 1; 22 = 4; 32 = 9; 42 = 16; 52 = 25;   13 = 1; 23 = 8; 33 = 27; 43 = 64; 53 = 125; 

14 = 1; 24 = 16; 34 = 81; 44 = 256; 54 = 625;      15 = 1; 25 = 32; 35 = 243; 45 = 1024; 55 = 3125 

Sum of the first ‘n’ natural numbers (Σn): 

1+ 2 = 3, 1 + 2 + 3 = 6;  1+ 2 + 3 + 4 = 10;    1 + 2 + 3 + 4 + 5 = 15;  1+ 2 + 3 + 4 + 5 + 6 = 21 

1 + 2 + 3 + 4 + 5 + 6 + 7 = 28;     1 + 2 + 3 + 4 + 5 + 6 + 7 + 8 = 36;   

1 + 2 + 3 + 4 + 5 + 6 + 7 + 8 + 9 = 45;   1 + 2 + 3 + 4 + 5 + 6 + 7 + 8 + 9 + 10 = 55. 

Product of the first ‘n’ natural numbers (n! Factorial n): 

1× 2 = 2; 1 × 2 × 3 = 6;  1 × 2 × 3 × 4 = 24;  1 × 2 × 3 × 4 × 5= 120; 1 × 2 × 3 × 4 × 5×6 = 720 

1 × 2 × 3 × 4 × 5 × 6 × 7 = 5040;     1 × 2 × 3 × 4 × 5 × 6 × 7 × 8 = 40320;   

1 × 2 × 3 × 4 × 5 × 6 × 7 × 8 × 9 = 362880;    1 × 2 × 3 × 4 × 5 × 6 × 7 × 8 × 9 ×10 = 3628800. 


